FE Sample Test Questions

copied from FE/EIT Sample Examinations, by Michael R. Lindeburg

Trigonometry

     [image: image1.png]12. The slope of a line is '/2. The slope of a second line
is —%s. The lines intercept at the point (3,1). What is
the acute angle between the lines?
(A) 270
(B) 50°
(C ) 60°
(D) 80°




     [image: image2.png]21. Which of the following is equivalent to sin 267

(A) 2sin0cos0
(B) cos?0 —
(C) sinfcosd
oy Lo





     [image: image3.png]6. What is the simplificd equivalent expression of

2 0 (in2 0) -
(cot® 0)(sin® 8) + Py

(A) 2sin0
(B) 2cos 6
(C) 2cos0
(D) 1




     [image: image4.png]12, The horizontal angle from the ground to the top
of a palm tree some unknown distance away is 46.18°
At a point 40 m divectly behind the first point, the
lorizontal angle to the top of the tree is 29.23°. What
is the distance from the palm tree to the first point?

(A) 42 m
(B) 46 m
() 51m
(D) 61m




